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1. Find	the	missing	value	in +______	=5
10

43
38

(i) 12
19 (ii) 10

19 (iii) 12
17 (iv) 14

19 (v) 4
7

2. Find	the	missing	value	in −______	=4
18

31
180

(i) ( -120 ) (ii) 1
20 (iii) 1

18 (iv) 1
22 (v) 3

20

3. Find	the	missing	value	in ✕______	=5
17

5
34

(i) 1
2 (ii) 2

3 (iii) 3
4 (iv) 2

5 (v) 1
4

4. Find	the	missing	value	in ÷______	=4
5

32
5

(i) 3
8 (ii) 1

6 (iii) ( -18 ) (iv) 1
10 (v) 1

8

5. Find	the	missing	value	in +______	=16
15

412
105

(i) 20
7 (ii) 22

7 (iii) 20
9 (iv) 18

7 (v) 4

6. Find	the	missing	value	in −______	=17
10

109
170

(i) 16
17 (ii) 6

5 (iii) 20
17 (iv) 18

19 (v) 18
17

7. Find	the	missing	value	in ✕______	=14
3

133
12

(i) 19
8 (ii) 19

10 (iii) 17
8 (iv) 21

8 (v) 19
6

8. Find	the	missing	value	in ÷______	=9
4

27
80

(i) 20
3 (ii) 22

3 (iii) 4 (iv) 6 (v) 20



9. Which	of	the	following	is	true?

(i) 14
20

13
20 1 1

13✕ = (ii) 13
14

1
7

15
14+ = (iii) 1

2
4
10

1
10+ = (iv) 5

7
2
3 1 1

14✕ = (v) 13
17

2
8

35
68+ =

10. Which	of	the	following	is	true?

(i) 33
17

13
8

43
136+ = (ii) 17

4
34
19 6 3

76− = (iii) 32
13

14
11 3 19

143✕ = (iv) 36
7

21
19 4 5

133+ = (v) 37
11

33
19 5 1619÷ =

11. + =	______1
3 14

(i) 43 (ii) 43
3 (iii) 41

3 (iv) 43
5 (v) 15

12. − =	______10 12 10

(i) 1
2 (ii) 3

2 (iii) 1 (iv) ( -12 ) (v) 1
4

13. ÷ =	______10
12 5

(i) ( -16 ) (ii) 1
8 (iii) 1

2 (iv) 1
4 (v) 1

6

14. + =	______16
11 14

(i) 170
13 (ii) 168

11 (iii) 170
11 (iv) 170

9 (v) 172
11

15. − =	______52
5 9

(i) 7
3 (ii) 9

5 (iii) 7
5 (iv) 1

16. ✕ =	______3
2 18

(i) 28 (ii) 27 (iii) 30 (iv) 24 (v) 26

17. ÷ =	______15
7 13

(i) 5
31 (ii) 1

7 (iii) 15
89 (iv) 17

91 (v) 15
91

18. + =	______1 5
16

(i) 7
6 (ii) 23

16 (iii) 21
16 (iv) 19

16 (v) 3
2



19. − =	______19 9
13

(i) 238
11 (ii) 238

15 (iii) 236
13 (iv) 240

13 (v) 238
13

20. ✕ =	______14 7
15

(i) 98
13 (ii) 20

3 (iii) 98
17 (iv) 32

5 (v) 98
15

21. ÷ =	______2 10
11

(i) 11
5 (ii) 11

7 (iii) 9
5 (iv) 11

3 (v) 13
5

22. + =	______20 16
5

(i) 116
3 (ii) 116

7 (iii) 114
5 (iv) 116

5 (v) 118
5

23. − =	______19 3
2

(i) 35
2 (ii) 35 (iii) 33

2 (iv) 37
2 (v) 35

4

24. ✕ =	______13 19
2

(i) 247
4 (ii) 247 (iii) 247

2 (iv) 249
2 (v) 245

2

25. ÷ =	______15 9
4

(i) 22
3 (ii) 20 (iii) 6 (iv) 20

3 (v) 4
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